POWER SUPPLY 12V 5A |eBay eshoppixig EA 1

Voltage Regulators (VRM? 12V eBay whitesibrgn EA 2 1]

RELAY DPDT 12Vg | http://www.azatrax.| EA 1_|LARY-DC

SWITCH OFF ON 110V |HARDWARE STOH EA 1

ELECTRICAL WIRE YOUR CHOICE LOT 1

WIRE CONNECTORS YOUR CHOICE LOT 1

CORD CLAMP YOUR CHOICE EA 3

M3 SHCS 8mm_ |FASTENAL EA 4 For Motol http://o| 18
M3 WASHER FASTENAL EA 4 For Motor http://o|

M4 WASHER FASTENAL EA 4 http://o| 4
GEARMOTOR 100 RPM 12v http://www.mpja.col EA 1 32206 MD

M3 BRASS HEAT INSERT| 3mm__ |[McMASTER CARR EA 3 [94180A331|Used in tt hltg://od 730
M4 SHCS 65mm_ | FASTENAL EA 1 | unknown ¥ 14
M4 SHCS 50mm__|FASTENAL EA 1 24
M4 SHCS 30mm_|FASTENAL EA 2 N 24
M4 NLOCK NUT 4mm__ |FASTENAL EA 2 http://o|

LIMIT SWT W/ WIRE 12v http://www.adafruit. EA 2 http://o| 10
SCREW #4 1/2" 1/2" HARDWARE STOI EA 4

SCREW #6 5/8in 5/8" HARDWARE STOH EA 14

GEARMOTOR 30rpm, 6 12V__ | http://www.mpja.col EA 1 [32204 MD

WOOD DOWEL BIRCH 3/8" |[HARDWARE STO FT 1

BEARINGS AX13X5mm VXB EA 8 KIT843

ABS SOLVENT CEMENT eBay oz 0.25

RUBBER BANDS ON HAND 2 |

MDF BOARD 16X10X0.§ HOME DEPOT SQFT 1.18] https://www.menard http://o|

11T YOUR CHOICE LOT 1

Spool Disc 3mm__|PELLETS mm 000( PRINTED hltg://od
Spool Cylinder http://oj

Spool Holder Bracket http:/op
Spool Holder Bracket (non

Tension Wire Guide http://op
Tension Loop Stand http:/op
Puller Motor Bracket http://op
Puller Bracket Left http://op
Puller Bracket Right http://op

Var Volt Standoff http://op
Spool Pulley A http://op
Spool Pulley B http:/op
Puller Cog http:/op
Winder Motor Cog STL 13 http://op
Puller Coupler -

SA 1 - SubAssembly 1 (SA http://of
SA2 http://of
SA3 http://of

SA4 File:LF
SA5 File:LFV http://opensourceecolo
SA7

A1 - Assembly 1 - Spooler
A2 - Puller

A3 - SA6 - Tensioner
Final Winder Assembly

LATEX RUBBER TIRE__| 1/2'ID_|eBay IN [4] icate] fishsinker823 | [ [T [ [



https://smile.amazon.com/GALYGG-110V-220V-Universal-Regulated-Transformer/dp/B06XRBYN4Z/ref=sr_1_14?ie=UTF8&qid=1506494775&sr=8-14&keywords=12V+power+supply
http://opensourceecology.org/wiki/File:LFS_Power_Supply_12V.fcstd
http://www.mpja.com/Voltage-Regulator-Module-Adj-AC_DC-Input/productinfo/32048+PS
http://opensourceecology.org/wiki/File:Voltage_regulator_module.FCStd
http://www.azatrax.com/fff
http://www.azatrax.com/latching-relay.html
http://opensourceecology.org/wiki/File:Relay_DPDT.FCStd
https://smile.amazon.com/Position-Light-Illuminated-Rocker-Switch/dp/B071FJ4NYV/ref=sr_1_fkmr3_4?s=hi&ie=UTF8&qid=1537323536&sr=8-4-fkmr3&keywords=illuminated+rocker+switch+15+pack
http://opensourceecology.org/wiki/File:Power_switch.FCStd
http://opensourceecology.org/wiki/File:Wire_Connector.FCStd
http://opensourceecology.org/wiki/File:CordClamp.FCStd
https://www.mcmaster.com/#91292a112/=19k88li
http://opensourceecology.org/wiki/File:M3_SHCS_8mm.fcstd
http://opensourceecology.org/wiki/File:M3_SHCS_8mm.fcstd
https://www.mcmaster.com/#93475a210/=19k89hf
http://opensourceecology.org/w/images/f/f2/LFS_M3_WASHER.fcstd
http://opensourceecology.org/w/images/f/f2/LFS_M3_WASHER.fcstd
http://opensourceecology.org/wiki/File:M4_Washer.fcstd
http://opensourceecology.org/wiki/File:M4_Washer.fcstd
http://www.mpja.com/
http://www.mpja.com/12VDC-100-RPM-Gearhead-Motor/productinfo/32206+MD
http://opensourceecology.org/wiki/File:Gearmotor_100RPM_32206_MD.FCStd
https://www.mcmaster.com/#94180a331/=17rtzqz
http://opensourceecology.org/wiki/File:M4_BRASS_HEAT_INSERT.fcstd
http://opensourceecology.org/wiki/File:M4_BRASS_HEAT_INSERT_PLACEHOLDER_1.fcstd
http://opensourceecology.org/wiki/File:LFS_M4_SHCS65mm.fcstd
http://opensourceecology.org/wiki/File:LFS_M4_SHCS65mm.fcstd
https://www.mcmaster.com/91290a186
http://opensourceecology.org/wiki/File:M4_SHCS_50mm.fcstd
http://opensourceecology.org/wiki/File:M4_SHCS_50mm.fcstd
https://www.mcmaster.com/#91290a180/=19k8ebr
http://opensourceecology.org/wiki/File:M4_SHCS_30mm.fcstd
http://opensourceecology.org/wiki/File:M4_SHCS_30mm.fcstd
https://www.mcmaster.com/#hex-locknuts/=18plpqa
http://opensourceecology.org/wiki/File:LFS_M4_NLOCK_NUT4mm.fcstd
http://opensourceecology.org/wiki/File:LFS_M4_NLOCK_NUT4mm.fcstd
http://www.adafruit.com/product/820
https://smile.amazon.com/Cylewet-20Pcs-Switch-Arduino-CYT1093/dp/B076GM7JQP/ref=sr_1_1?s=industrial&ie=UTF8&qid=1536931369&sr=1-1&keywords=Cylewet+20Pcs+5A+125V+Limit+Switch+for+Arduino+%28Pack+of+20%29+CYT1093
http://opensourceecology.org/wiki/File:Limit_switch_place_holder.fcstd
http://opensourceecology.org/wiki/File:Limit_switch_place_holder.fcstd
https://www.mcmaster.com/#92295a103/=19k8h7l
http://opensourceecology.org/wiki/File:LFS_screw_4X.5_in_screw.fcstd
https://www.mcmaster.com/#92295a209/=19k8hu0
http://opensourceecology.org/wiki/File:LFW_6x15.875mm_Screw.fcstd
http://www.mpja.com/
http://www.mpja.com/12VDC-30-RPM-Gearhead-Motor/productinfo/32204+MD
http://opensourceecology.org/wiki/File:Gearmotor_30RPM_32204_MD.FCStd
https://www.mcmaster.com/#9683k15/=18plrgn
http://opensourceecology.org/wiki/File:LFS_WOOD_DOWEL_BIRCH.fcstd
https://www.amazon.com/uxcell-Single-Shielded-Groove-Bearing/dp/B00AUB7M3C/ref=sr_1_3?ie=UTF8&qid=1506496837&sr=8-3&keywords=4x13x5+bearing
http://opensourceecology.org/wiki/File:LFS_BEARINGS.fcstd
https://www.menards.com/main/building-materials/panel-products/industrial-panels/mdf-mdo-panels/1-2-x-49-x-97-mdf-panel/p-1444445345865-c-13338.htm?tid=3147199637193629422&ipos=5
http://opensourceecology.org/wiki/File:LFS_MDF_BOARD.fcstd
http://opensourceecology.org/wiki/File:LFS_MDF_BOARD.fcstd
http://opensourceecology.org/wiki/File:STL_1_SPOOL_DISC.stl
http://opensourceecology.org/wiki/File:FCSTD_1_SPOOL_DISC.fcstd
http://opensourceecology.org/wiki/File:STL_2_SPOOL_CYL.stl
http://opensourceecology.org/wiki/File:FCSTD_2_SPOOL_CYL.fcstd
http://opensourceecology.org/wiki/File:STL_3_SPOOL_HOLDER_BRKT.stl
http://opensourceecology.org/wiki/File:FCSTD_3_SPOOL_HOLDER_BRKT.fcstd
http://opensourceecology.org/wiki/File:STL_4_SWT_WIRE_GUIDE.stl
http://opensourceecology.org/wiki/File:STL_4_SWT_WIRE_GUIDE.fcstd
http://opensourceecology.org/wiki/File:STL_5_LOOP_STAND.stl
http://opensourceecology.org/wiki/File:STL_5_LOOP_STAND.fcstd
http://opensourceecology.org/wiki/File:STL_6_PULLER_MOTOR_BRKT.stl
http://opensourceecology.org/wiki/File:FCSTD_6_PULLER_MOTOR_BRKT.fcstd
http://opensourceecology.org/wiki/File:STL_7_PULLER_BRKT_LT.stl
http://opensourceecology.org/wiki/File:FCSTD_7_PULLER_BRKT_LT.fcstd
http://opensourceecology.org/wiki/File:STL_8_PULLER_BRKT_RT.stl
http://opensourceecology.org/wiki/File:FCSTD_8_PULLER_BRKT_RT.FCStd
http://opensourceecology.org/wiki/File:STL_9_STANDOFF.stl
http://opensourceecology.org/wiki/File:FCSTD_9_STANDOFF.FCStd
http://opensourceecology.org/wiki/File:STL_10_SPOOL_PULLEY_A.stl
http://opensourceecology.org/wiki/File:FCSTD_10_SPOOL_PULLEY_A.FCStd
http://opensourceecology.org/wiki/File:STL_11_SPOOL_PULLEY_B.stl
http://opensourceecology.org/wiki/File:FCSTD_11_SPOOL_PULLEY_B.FCstd
http://opensourceecology.org/wiki/File:STL_12_PULLER_COG.stl
http://opensourceecology.org/wiki/File:STL_12_PULLER_COG.fcstd
http://opensourceecology.org/wiki/File:STL_13_COG_MOTOR_SHAFT_4mm.stl
http://opensourceecology.org/wiki/File:LFW_puller_coupler.fcstd
http://opensourceecology.org/wiki/File:SA_1.FCStd
http://opensourceecology.org/wiki/File:SA_1.FCStd
http://opensourceecology.org/wiki/File:SA_1.FCStd
http://opensourceecology.org/wiki/File:LFW_spoolholder_ms.fcstd
http://opensourceecology.org/wiki/File:LFW_spoolholder_ms.fcstd
http://opensourceecology.org/w/images/f/fc/SA_3.fcstd
http://opensourceecology.org/w/images/f/fc/SA_3.fcstd
http://opensourceecology.org/w/index.php?title=Special:Upload&wpDestFile=LFW_roller_ms.fcstd
http://opensourceecology.org/wiki/File:LFW_roller_ms.fcstd
http://opensourceecology.org/wiki/File:LFW_roller.fcstd
http://opensourceecology.org/w/index.php?title=Special:Upload&wpDestFile=LFW_electronics.fcstd
http://opensourceecology.org/wiki/File:LFS_Assembly_7_Electronics.fcstd
http://opensourceecology.org/w/images/e/eb/LFS_Spooler_Assembly.fcstd
http://opensourceecology.org/wiki/File:LFW_puller.fcstd
http://opensourceecology.org/w/images/0/05/LFW_tensionerswitch.fcstd
http://opensourceecology.org/wiki/File:LFW_Master_Assembly.fcstd

[1] changed this to 2
[2] Ebay -
with Voltage Display -

https://www.ebay.com/itm/LM317-AC-DC-Adjustable-Voltage-Regulator-Step-down-DC-Power-Supply-
Module-LED-2A/1117912520267epid=1453442547 &hash=item1a0747223a:9:L.zcAAOSWWnFWCIIJ

[3] Jose
[4] Dixon

[5] Josef
[6] Roberto
[7] Abe

[8] Abe

[9] Roberto



